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Topic:- Child Development & Pedagogy (CDP)

1) Today’s classrooms now welcome learners. / 3T & H&T3M A 3G Rrenfday =1

W g 8
1. Talented / TTTHTRITAT

2. Diverse / fafay
3. Gifted / UfqHTRICH
4, Special need / faRRy Sevade

Correct Answer :-

. Diverse / f[afay

2) Short term deficit of sleep affects learners by: / :ﬂ'c{ 1 SreuTafes HH ﬁT&ITm &I
UHTfad I & :

1. increase in weight/ Wﬁq@

2. increasing the risk of diabetes/ qﬂﬁ’a’ PTEART de-T

3. weakening immunity/ HHSR Ul

4. reducing concentration and memory/ YD TIdI 3R F:jﬁf DI HH BIAT

Correct Answer :-

» reducing concentration and memory/ UpTUdI 3R F:ﬂ%l DI BT DA

3) Inequality in education has been reduced in India due to: / HRd o e & srquT=ar

i fPasRUsUE TS §:
1. Religious intervention/ ey gwau

2. Social Reforms/ FHIST JUR
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3. Constitutional provisions/ HauTe grae™
4. Cultural diversity/ GiepIcIdh fafaerar

Correct Answer :-

« Constitutional provisions/ AUt gray

4) NIOS is an example of agency of education. / Qq&n'éaﬁuv, Rrem ot
TolNil 3T T SEeRUI 7|

1. non formal / ﬁT-GﬁW
2. formal / W

3. NGO / T3
4. informal / UG

Correct Answer :-

« non formal / ﬁ?—\ﬁlﬂ?ﬂﬁﬁ

5) What are the family and community resources that children can draw upon collectively
called? / U UTRATR® 3R ATSTRI® A1 1 8, o R 92 9argfe® &0 & smaffa
T 9P 82

1. Membership capital / &l q;\_vﬁ
2. Structural capital / FRITTHD tlfrﬁ
3. Fiscal capital / RSN Ua\_rﬁ
4. Social capital / BILISED U,Srﬁ

Correct Answer :-

« Social capital / G qﬁﬁ

6) What are the ways to engage students in problem-solving strategies & extend their
thinking? / THET B! AT P IUFIG] H ST B AT B MR IAP! A DI 3
CLAE K AL ok 2| 4

1. Use of concept formation, inquiry & synectics / HAdYRUI TS, S dID 3R RT3 BT

Ripin]
2. Addressing questions again & again/ dIR-dIR U4 CIRSCIRCERS

3. Talking to friends nicely/ QI I 3wy I a1 HAT
4. Giving them extra homework / 378 AR HER B ST
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Correct Answer :-

« Use of concept formation, inquiry & synectics / SITYRUIT TS, Y5l 3R RT3 BT

7) What type of reasoning is characterized by moving from the general to the particular? /

T & falRw 1 ok 9ed §¢ f5d yeR & a9 31 faxivar sa1g it 82
1. Transductive reasoning / IR I @m@@%a ﬂﬁlﬁ"T)

2. Inductive reasoning / SITHATHD ad ($'§f<i\td NEIEU))

3. Deductive reasoning / TS db (%sFoEd NEIEL)

4, Hypothetical reasoning / UIddh cU-THD a® @waﬁwm

Correct Answer :-

+ Deductive reasoning / IBUEICCAGED (%3'@3 NEIEU))

8) What is the part of memory that stores information that one is not consciously aware of? /

%@?wﬁ?mm%,ﬁaﬁmmm%ﬁﬂﬁﬁawﬁaﬂmqﬁ

1. Dual memory / FRR F{ﬁ

2. Explicit memory / YU¥ Fﬂﬁf

3. Implicit memory / Hﬂﬁ%ﬂ Fﬂﬁ[
4. Conscious memory / IS @jﬁf

Correct Answer :-

« Implicit memory / ai'aiiiléil Fﬂﬁf

9) What is the phenomenon wherein previous exposure to a word or concept makes later

recollection easier?/WWW%WWWWWW%@ﬁMﬁNﬁ@
1S BT THRUT ST & STl 82

1. Priming / 1;I'Igﬁl"'[

2. Deriving / alﬁlﬁf

3. Subliminal perception / N ERE R MU CR|
4. Subconscious memory / NICERE] Fﬂﬁf

Correct Answer :-

+ Priming / PINE
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10) Children are asked to narrate a story during the administration of which test? /fa

e F T P QR g1 B HET G P I Hg1 oiran 82
1. Children’s Apperception Test (CAT) / TA-3FAaTe TGLTefur (?ﬁnﬁ)

2. Minnesota Multiphasic Personality Inventory (MMPI) / et Aecithivie TRHae 2ded]

3. Wechsler’s Intelligence Scale for Children (WISC) / RN 3%1%‘!@1? A BR ﬁl@q

4. Thematic Apperception Test (TAT) / favg-siraTate uiero (_cﬂ'Qa)

Correct Answer :-

« Children’s Apperception Test (CAT) / TA-3FAaTe GTefur ('{:ﬂ'Q_a)

11) Learner autonomy is a characteristic of: / Rremff warawar foa 91 faiwar %?
1. Formal education / 3TN fRI&f

2. Traditional education / RGN fRI&

3. Progressive education / TRTTaI=iteT fRr&f

4. Inclusive education / FHTAR fRr&f

Correct Answer :-

 Progressive education / ORIt fRraf

12) Raven’s Progressive Matrices Test measures: /399 BT ARG ﬁﬁ'\‘r ST | B:

1. Intelligence / §@
2. Personality / Hfadd

3. Attitude / TG

4. Motivation / OO

Correct Answer :-

« Intelligence / §@

13) According to Piaget, children’s development is progressing through 4 stages. /

s & SgER, F= @1 AP 4 TR & ATHH A WIfd B BT 2|
1. Physical/ Hifds
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2. Emotional / HIdI(H®
3. Functional / W‘T?lw
4. Cognitive/ TIMTHD

Correct Answer :-

+ Cognitive/ IMTH®

14) Many people who were alive at that time remember exactly where they were and what
they were doing when they heard that Rajiv Gandhi was assassinated. What type of memory

is displayed here?/ﬁmﬁwmwaﬁq@a%w@am%ﬁaﬂmmzﬁﬂé
aﬁvﬁﬁ%&éa—%mﬁm%ﬁ?%ﬁﬁaﬁﬁww@ﬁ | I81 {59 UPpR 1

1. Flashbulb memory / uﬁ?ﬂﬁ Fjﬁf

2. Declarative memory / EINVIEAED Wﬁ
3. Sensory memory / BEE] Fjﬁf

4. Semantic memory / G{Qﬁﬁgﬂ'ﬁ

Correct Answer :-

« Flashbulb memory / tjjaﬁ?f Fﬂﬁf

15) Learners are not included under “Exceptional Category”. / Rrenfday

& " SqaTerE® i  Siarfa wnfre &) far sman
1. Normal / FTURUT (FATH)

2. Retarded / Hg (Re1ES)

3. Gifted / UfHTRITEN (THCS)

4. Slow / 10 (el

Correct Answer :-

« Normal / HTYRU] ('_'ﬁﬁ?l)

16) If a learner has difficulty in reading, then what type of learning disability? /afe U@

fRremdf #Y uga ¥ B3 el 8, Y S 5w yR # siftnma sreryar 22
1. Dysgraphia / fegumitrar

2. None of these / STH I ®Ig g

3. Dyslexia / fSTifaaam
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4. Dyscalculia / %@Wﬂzﬂ%{\?ﬂ

Correct Answer :-

« Dyslexia / TSI

17) An infant takes time to distinguish the father from other men. This aspect of
development happens because of the following principle. / T fQTE{[ 31 fUdT &t 3= g%'sﬁ' I
3R XA | GHI a1 7 | o &1 95 eRivn e Risia & eRur gar g

1. Whole to Part / U;Ufﬁ 3
2. Centre to Periphery / b I gy
3. Part to Whole / C’rl'-‘lT@q:Uf

4, General to Specific / HIH 3 fafy

Correct Answer :-

 General to Specific / HTHI 3 fafRy

18) The famous physiologist whose work on classical conditioning influenced the field of

child psychology is: / TRIg TRR-foran fagrit (Fpforaiaifore) foraeT medla sggpad
mﬁﬁﬁmw%mwwwﬂﬁaﬂ%?aaaﬁumﬁam% ag:

1. Edward Thorndike / TSdS UHSISH

2. Wolfgang Kohler / GIIRveRIE) d;IE;CR
3. Jean Piaget / ST oSt
4. Ivan Pavlov / S UTddld

Correct Answer :-

« Ivan Pavlov / $dT9 UIGdld

19) The proverb “Nothing succeeds like success” is applicable to which of the following laws

of learning? / HETAd “Teh HHEdl & d1¢ 3P P adl fHad! g 17 3R & fea fFaw
TR AN BT 82

1. Law of exercise /31T & FaH
2. Law of readiness / dqUxdl & g
3. Law of effect / JHTd o 49

4. Law of success /el o (99

Correct Answer :-
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. Law of effect / UHTd & FaH

20) The characteristic of behavioral objective is: / AEIND 3%'-‘2'5[ o1 faRivar 3:
1. None of above /Wﬁﬁﬁgq—ﬁﬁ

2. Observable and measurable / SAAH AR TRAG

3. Observable and Immeasurable / 3A@H-IT 3R SRR

4. Non-observable / TR-3fa@I-1a

Correct Answer :-

« Observable and measurable / AABAY 3%7 ufayg

21) Which of the following is a Humanistic view of motivation? / FFrafaRaa § 3 URom &1

GIECOIGIC K Ca s

1. Need for self-esteem and self fulfilment / STER &1 AT 3R AT &l

2. Beliefs, attributions for success and failure / YRUI, Jh Il bl 4 3R B!
3. Goals, expectations and self-efficacy / &, IFIG 3R 3T UHTIHTRGT

4, Incentives, reinforcers and punishers / Q?ﬁ‘l-ﬂ, {i‘E(;CJbCIT 3R GUS o aTdl

Correct Answer :-

- Need for self-esteem and self fulfilment / ST B! ATTRIHAT 3R ST Jrad

22) How many primary stages of development are present in Kohlberg’s theory on moral

%evelopment?/ﬁmmwaﬁmaaﬁl@aﬁﬁm%ﬁmﬁmmwrﬁqg

1.3
2.4
3.2

4. 6

Correct Answer :-

23) advocated that all children have the potential to learn. / A Glﬁ'l:ﬁﬁ?[ fearg
& Wt =i & dres 3t gmar gt g1
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1. John Dewey /Sl @'{a

2. Freud / /IS

3. Friedrich Frobel / TheRa& Whiaa

4. Maria Montessori / HTIRAT ATCERT

Correct Answer :-

« Friedrich Frobel / g WHigd

24) are creative skill practice books for children for the enrichment of their

creative thinking. / T DI TWATHSD A" P Hadq & oI =TS P13 &
ford g €

1. Enrichment books / HH& W

2. Idea books / fd9R W

3. Integrated books / Ui d Jxdd

4. Creative books / TIIHD T

Correct Answer :-

« Idea books / fadR W

25) The key agent in Erikson’s Psychosocial stage of “Industry versus inferiority” is: /

“ufte T g1’ & RFET F ATEG RO S W ged § -
1. Family / GRAR

2. Parents / ATI-{UaT

3. Primary caregiver / PIdIBECRHRE

4. Teachers and peers / R1&/® 3R ggurdt

Correct Answer :-

o Teachers and peers / e 3R Wq'l_o'gf

26) The passion for doing anything in the absence of any compulsion or reward is

/ Tt ot sreman a1 399 & 3uTT ® $© W HA BT A gl
1. Intrinsic motivation / SATGATTd JTHUROT

2. Extrinsic motivation / TTHTII® H{HORT
3. Achievement motivation / SUATSY TR

4. Level of Aspiration / 3{TohT&T b1 TR
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Correct Answer :-

« Intrinsic motivation / SfFATd fHUROT

27) Which of the following is NOT a form of misconception? / fafafaa g3 &
TS TTed YR 8] 82

1. Vernacular misconceptions/ HIGHIYT o Q@

2. Cognitive conflicted ideas / IMTHD TR faRielt foar
3. Non-scientific beliefs/ 3{d¥Te HIICTY

4. Preconceived notions/ %‘fﬂﬁ ICEIR

Correct Answer :-

« Cognitive conflicted ideas / HTTHD TRER faRIeh faamR

28) Who strives to answer such questions as well as to understand, explain
and predict behaviors that occur throughout the lifespan? / Siaq WR 11 a1
AR P! UM, U MR UfTegamft F37 &1 TRy $1 F AY-914 W Jaral &
SaTd P ¢l 82

1. Developmental psychologists/ EEIRIGAES J-I"Ilalilll P

2. Vygotsky theorist/ arsiiee! RIgideR
3. Fraud theorist/ m@ﬂ@ ICEIEC

4. Erikson theorist/ TR&IT RIGIddR

Correct Answer :-

« Developmental psychologists/ [dehTTH® EEICRIIEED

29) To motivate an auditory learner, the teacher should encourage him/her to

./ v Rrenfiay @1 ufva &1 & forg, R $1 A Mred w31 g f$
|

1. use reading material in small units / Bt $0bI$LI\I. H U IRl &1 SUART &1 |
2. participate in club activities and skits etc / deid o1 Mfafaferdl 8ik e (@TC') 31T H UFT o |
3. participate in discussions / EER:RIE NG gl

4. use coloured pen and highlighters while studying / U@TS ®3d JHYT M- HaH 3R g3AEey &1
TG B |

Correct Answer :-
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« participate in discussions / <t § giHferd gl

30) The effective learning as per Piaget’s theory is . / forare & Rigid & SaR gyTdt
iftrma 2

1. content acquisition / It Gha
2. root memorization / F¢T Yl G-I
3. active learning / ichd TR

4. reading by heart / ThTIAT § UG-

Correct Answer :-

« active learning / Tfehd HfTH

Topic:- General Hindi (L1GH)

1) 919 1922 Ft g1 3 fAT SIS &1 AT UTI URA 1 S BT TATH 4TI 39 AN DI dRE-aE P
TR g4 USd A1 3T A A 3 Wi ¥ 3 & T URd & a i 9g8d SIA-UHBT B IG@T AT
R P! YAfHal & farw deA &1 fewaa T@= arar Wt ahr A1 07 & aRT A TS WS & BT srfeandt
3R IS AT BT A0 AT FR17 T

3T & T STl & S ¥g arad BT feart eht-ardt Wt & wrerd F o A=A Jerar wd i
TR od I U A 1P ST THR AT §h S0, S-IDT sita-] Giebd gl 14Tl

SUa TR P UgHR A>T T st & IR Farsu:
U: YRd %M 1922 § # {1 @ ur?

1. gamiiera &1

2. SAIHT

3. 3l &1

4, TR &1

Correct Answer :-
. 3l &1

2) ARY Tar faga yu &+,

Tgd HIF AT Yd ¥ Jg a;

¢ v &1 Riy Sruifi,

R SftaT BT 319] 7T T

A Yad A IUh Sal

AR 2fiaa sHa I,
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fay-zray RR ¢ Fgar'd

B 9 9 9T g | fAan

e Rigr | diue wan

ST Ui ®1 UgH -4 f3r Tyt & IR Fanzu:

R HiawAt & SR, ‘ggd W9 A1 gd ¥ g a1 Ufea &1 Hrard «an 32
1. TH § &9 &1 gTad A T 81 7S 8|

2. It P T DI TRE U I E 0 SR B &d & A TH ¢ |

3. e & 9 919 & 99 g4 6T 5

4. TUucl gU AT & oRE gadi - |

Correct Answer :-

. N A HIF B dRE U S U BT B! Gd H g o < |

3) IRY e faya gu a4,
Tgd HIF A1 g4 ¥ 4g a;

¢ w1 &1 Ry srafkfi,
R SftaT BT 31Y] T T
g qas AR SIud Sfa
TR =faa siad Ia+,

T I3 G SaTa1-Hur
fay-zray RR ¢ T 'd
BT 1 oI U g1 | fran
e Rigy W s s
S Ui ®1 UgH -1 fAT T i & IR Fargu:
=z RigR &1 o 7T 32
1. Hgd

2. TR

3. 4

4. ol

Correct Answer :-
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4) IRY Werr faga YU e,

Tgd HIF AT YA ¥ g a;

2 Uyt 1 Ry ruffie,

o Sftae BT 319] 7T @

Ja® Jad W U o

TR aa Haa Ia+,

HIT B I SAQA1-H0]
fay-=ray R ¢ wgar A

B 9 5 uran g7 | e

Rz Rige N flues s

ST U= $1 Ugdpr -1 fT 7T weii & IwR qa1sT:
UL ‘Yad-Jad’ A 1 aread 82
1. IR-ER

2. -k

3. doil ¥

4. 399

Correct Answer :-
- B

5) IRY Tar faga gu &,

qgd HIF AT YA I Jg a;

¢ yoTRT @ Ry srufifi,

R STa &7 379] 7T T

Ja® Jad AN ¢1us o

IR <fad saa T,

T Y8 g9 Sardl-& ot

fay-zray R ¢ wgar &

BT 1 ot U g | e

Rrge R | Sy o

ST U= B UgdR -1 f3u 7T wel F IR Ia1sT:
WA AW BT FT 3 g 32

1.9

2. Sfida ¥
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3.THY
4, B

Correct Answer :-

6) TRY Fam faga yu «,

gd T A1 YA ¥ 9g a;

¢ yoT=1 @1 Ry sruffi,

o Sfta= BT 379 T e

qa® AP A U e

IR faa siaa T,

T Y8 g9 SaTdl-H ol
fay-=ray RR ¢ wgar A

BT 1 ot T g | e

e Ry W diue o

IUYa Ui Y Ugwhv -1 fou 1T usl & IR Farsu:
U a7 $T faa¥ e a1 82
1. 7741

2. 99

3. 9dH
4. QRIH

Correct Answer :-

7) IRY bar fage yu e,
Tgd HIF A1 YA Y g a;

2 yoT=1 @1 Ry sruffi,
o SiaeT &7 379] 7Te T
qa® Jad WX d1us ol
IR faa s iad Ta,
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B ot ran g3 | e

g% e A dius wran!

S UL I Ugd - 3T 7Tyl & IR aa1sT:
WA: ‘U $T qargardt /1 32

1. foRTT

2. 541l

3. Tt

4.4

Correct Answer :-

8) IRY War faga yu &,

Tgd HIF AT YA ¥ 9g a;
2yt 1 fRiy sruffie,

X Sfta= BT 319] 7T e

qa® Jad W U o

IR fad Hiad T,

T I I3 SaTal-&HUT
fay-=ray AR ¢ wear &

B 9 5T uTan g | e

ez Rige @t e wren

I U=IIR $1 UgpR A1 fU 7T weil & IR Ia13¢:
WA: ARY BT FHFT Mg F1 72
1. gy

2. HgH

3.

4. I

Correct Answer :-

9) RN War faga yu &,
TG HIW AT Y < gg a;
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T T o1 Ry sruf¥fi,

R STa BT 379] 7T T

qaP qas A ue o

AR Sad dEd I,

T I I3 SATdl-&H o7
fay-zray R ¢ sgar &

B - ot g g | e

Rrge R | Sue o

ST U= B Ughe -1 fIu 71T weii & SR qarsu:
W §9 Hfdar # Hfaat = 41 R &Y 82
1. AU Y G &1 I8 fd@™ B |

2. TP D SATdT ST D1

3. UP I ISATAT B Bl

4. 79 ¥ SUS Ta D1 |

Correct Answer :-

. dIus I g1 31 I8 fd@™H &1

10) HRY Ber faga yu ¥,

TGd T A1 YA ¥ 9g a;

2 worr 1 Riy srafkfr,

R SHae &7 379] 7T e

qa® YA A Sus oa!

AR Sad SHEd I,

T Y8 g9 SaTdl-& ot
fay-z@avy RR 47 ogar A

B 1 ot ra g | e

ez R a¥ dues s

ST U= F1 UgdR -1 fT 7T wel & I9R Ia1sT:
WA ST BT TP 3= ATH FIT 51 82
1. RMAH

2. Jldsh

3. 31T

4, 5ddd
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Correct Answer :-

11) IRY e faga yu e,

qgd HIF AT YA ¥ g a;

2 T @1 iy Sruffie,

R STae &7 379] 7T e

Ja® Jad A ¢1Us o

IR <fad saa I,

T I g3 SATdl-&H 0T

fay-zray R ¢ wgar &

B 9 5 uran g7 § e

g R | Sue o

IuYed Ui &1 Ugah? - 3T T wsl & IR Ia1se:
US: Ygd BT 3 THSHR ITPT [AalH g Ia15Q?
1. &8l

2. DI

3. HOR

4. HiaT

Correct Answer :-

12) "R Her faga yu ,
TGd T A1 YA ¥ 9g a;

2 T @1 fRiy sruffire,
R Siae &7 319] 7T e
qa® Ja® AX $u@ o !

R faa sraa T,

T Y8 g9 SaTdal-& ol
fay-=ray RR ¢ wgar A
B 1 ot ra g | e
e R W diue o
SUYH UL HI TR T T Y wsil & I 1S y:
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U=: SIS DI G GIHY A -1 1ieT?

1. S ¢ Sl |

2. I TR ST ROt § TRY 3R IS el B |
3. S8 YRR J0THA TR SR AT U el ¢
4, Y R B GG IRT 3R Bt B

Correct Answer :-

o SR GO AT Ui B TRY 3R ISl R B
13) HRY et fage yu,

qgd HIF AT YA ¥ g a;

¢ YT @ Ry srufif,

AR STa BT 379] 7T T

qa® Yo AN U o

IR Xad s1ad o,

T Y8 g9 Saral-& ol

fay-zray R ¢ wgar &

B 9 5 uran g7 | e

g R | due o

ST U= B UgdhR -1 fIT 71T weii & ST qarsu:
W= U Uferal # aR $3 82

1. Had I

2. Had S

3. dad Hidd

4. SWRIad Gt

Correct Answer :-

. SWRIad gt

14) IRY Far faga yu =,
qgd HIF AT YA ¥ g a;

2 worr &1 Rigy sraf¥fir,
R STa &7 379] 7T e
qa® Jad AN ¢Iuw o


https://applink.adda247.com/d/XhqWf9lSap
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fay-zay RR 47 ogar A

B 1 ot T g | e

g Rgr W Sy o

ST U= F1 UgdR -1 fu 7T weil & IR Fa13C:
UL TR Ufed § Sfaaet forad waft ard st 82
1. AEc 9

2. 4 & THIRI

3. U

4. 9% 9

Correct Answer :-

. duB A

15) SR o faga yu =,

gd T A1 YA ¥ g a;

3 v &1 Riy sraRkf,

o Sftaq BT 319 7T Ta!

qa® Jad A3 d1us o

IR faa Had Ta,

T Y8 g9 SaTdl-H o1

fay-zay RR 47 wgar A

B o T g | e

e Ry W diue o

ST TSN P UgH ) 3T 7T wsil & SR 9a18T:
W: AR BT 3 TR IS faeiy Weg Jarsw?
1. W

2. R

3. ORfd

4. o

Correct Answer :-
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16) WRY o faga yu s,

gd T A1 YA ¥ g a;
2yt @1 iy sruffire,

R Siae &7 379] 7T e

Y A A U e

R ad HEd Ia,

T Y8 g9 SaTdal-H ol

fay-zay RR 47 ogar A

B ot g g | e

g Rrgr W Sy o

ST U= $1 UgdR -1 f3u 7T weil & IR Ia13¢:
THY: “d¥ Sia BT 3] e T UfeRT BT UTE 32

1. S-S &1 33
2. 5TF B /T
3. Si1q B! SfcTe™ #R g1 DI FBI

4. IOl B DI T3]

Correct Answer :-

« SIa DI SiTEH PR ¢ DI FWBT

17) 914 1922 B g1 I &Y SIS $T AT AUT1 URA S U BT T AT U AR DI aRG-IE &
TR TeA USd A1 3 A 7 309 Wi ¥ #3A & fIT URd & A &1 95 S-UTDHT B 3G AT
TR IT@! YufFal F farw de= & ffvrd wam ara O @ &1 T & T & s ue & wran snfeandt v
ISP AT BT A1 4T FRTH IS

3T & T STl & dT ¥g- ara BT rfeandt Ateh-ardt Wdt & wreaw I St AS-AE Jerr wd A1 W
TG AT A AP S MTH YT §P UM, IDT Sl GiRbd gl T

IUa T B Ugh] 14 fau ¢ uei & IR Ta18T:
U= AT ST qgigar o1 82

1. dr

2. YD

3. 3

4. B

Correct Answer :-
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18) T 1922 B g1 I &1 SRS BT AT YT YR S S BT AT ATI YA AR Pl ARE-0RE P
TR g USd A1 309 AR 7 3 W@ ¥ 3 F T YRa & Al &) agd ST-YWHT B 36T AT
TR D! yafeal F e as o) fiwma 3@ ara O i 31 T & a1 A Sy wewr & wran Snfeardt ofiR
ISP AT BT A1 4T FRTH I

3TY & T ST & o g a1 DT snfearit Aieh-ardt @t & aream A ru AT Ferr wd A1 W
E A U A ISP d SMTH YT §F SHII, ST it G d gl 1Tl

ST TR B Ugdh -1 3T T et & IR 9aTsu:
U= TATHT T T g1 USal 412

1. Had S

2. Had AR

3. Had YHDH

4. SWRIad it

Correct Answer :-

. SWRIad gt

19) T 1922 B g1 I &1 3RS BT AT AT YR S S BT AT ATI U AR Pl ARE-0RE P
SUMIR e Usd A1 3 W A 3 Wil R $3 F R URA & @0l b 9gd SI-UHST T @1 U1
TR D! yAfeal F Raare as o fewma @ ara W a1 A1 T & a1 A Sy wewr & wran Snfeardt ofiv
IS AT BT A1 4T FRTH I

3TY & T ST & o 7 a1 BT Al Aleh-ardt Welt & wread A 39 AT Ferr Hd A1 R
Tq A SR A P ST ATH ST §H THIAT, ST Sita- GiRewd gt 1Tl

ST TR B Ugdh -1 3T T yefif & IR 9aTsu:
U BT 5 UPR T IYSH &2

1. gferd

2. D

3. gaquf

4. 3fTicardl

Correct Answer :-

20) 9Td 1922 BI g1 I AT A BT AT AT YR S 3FSH FT TATT AUTI U AR Pl ARE-0RE P
TR WE USd A1 3% I A 3 Wi ¥ #31 & 1T YR & @I Y 95 S-UHPT BT I@T YT
TR ST YHfHal & fEarw de- o fewrd e ara W @i &1 T &1 T & s U= & wian snfeandt iR
ISP AT BT A1 4T FRTH I

3TY & T ST & o g a1 BT sfearit Aieh-ardt @t & aread | 3rat AT e wd A1 W
Tq A SR A P ST B ST §H STHIET, I Sita- GiRbd gl 1Tl

ST TR $ UgHR - T 7T usii & IR Ia15T:
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U=H: ‘BT & AT A2
1. fa@r gen

2. TTH Y BIS TaT

3. 3G

4. SR A

Correct Answer :-

21) 9Td 1922 BT g1 I AT S BT AT AT YR S 3RS FT TAT AUTI YA ART DI ARG-0RG P
TR T USd A1 3UT A 7 30+ W1 QR HA & AT URT & dRN B 9§ S-YHBT B @7 T
TR @ yufFal F f{arw dea o fRvrd v ardt o a1 T ) i A e wew & wran snfeard v
ISP AT BT A1 4T FRTH I

3T & I STl & d1 ¥g+ AT DT Tfeardt Are-Ardt Wl & Aread I et AS-AET FJerar Hd A1 W
q A ST A AP ST ATH (YT §H STHIET, I Sita- Gikebd gl 1Tl

IUY TR B UgHR - fAT T g & IR Ia1gu:
U ‘PP R § Bl UTe Siid 82

Correct Answer :-

. 3y U

22) 91d 1922 BI g1 I AT S BT AT AT YR S 3RS FT TAT AUTI YA AT DI ARG-0RG P
TR e USd A1 U A 7 U+ W1 G HA & AT URT & G B g S-YHBT HR @7 T
TR IT@! YufHal F f{arw dea @ ffvrd vam ara o @ &1 ¥ & i @ iy wewr & wran snfeardt v
ISP AT BT A1 4T FRTH I

Y & g STl & i g a1 DT fearit Aief-ardt Tt & areaw F 3ra= A-IIET e Hd A1 uR
Tq A ST A AP S B (YT g STHIET, IDT Sita- Gikbd gl 1Tl

I T B Ugeh] 1 fau Tyl & IR qa1zv:
A PR 5T w nfia gid 82

1. UOTE

2. Wl

3. AWl UTa

4, oIt
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Correct Answer :-

23) 91d 1922 BI g1 I AT A BT AT AT YR S 3FSH BT TATT AUTI YA AN DI ARE-0RG P
ATTAR g USd A1 3T A 7 3 W@ ¥ 3 F I YRa & Al &) agd SI-Y0HT B @7 AT
TR @] YHfHal & fEarw de= o fgwrd wa- ara W @ &1 T &1 T 2 s U & wian snfeandt oiv
ISP AT BT A1 4T FRTH I

3TY & T ST & o 7 a1 BT fearit Aieh-ardt Tet & aread | 9= AT e Hd A1 uR
Tq A S A AP ST ATH ST g STHIAT, ST Sita- GiRewd gt 1Tl

ST TRIIRT B UgH - 3T T yeff & IR 9aTsu:
w=: RaaTe reg |1 R?

1. fac=h

2. ddH

3. dagd

4. SRS

Correct Answer :-

24) 9Td 1922 BI g1 I AT A BT AT AT YR S 3RS FT TATT AUTI U AT Pl ARG-0RG P
TR g USd A1 3UT A 7 30+ W1 R HA & fIT URT & a1 Y 9§ S-YHBT HR @7 AT
TR @ YufFal F f{arw dea o ffvra vam ara o a1 T & i 2 s wewr & wran snfearyt v
ISP AT BT A1 4T FRTH I

3T & I STl & dI ¥g+ aTd DT Tfeandt Arei-Arct Wl & AT I U=t AS-IET Jerar Hd A1 W
Tq A ST A AP ST TH ST G STHIET, ST Sita- GiRebd gl 1Tl

SR T B UG A1 3T 7Ty & IR Ia13¢:
WA g TR | fw uiaw &1 o gan @2
1. Tl WGl & &1

2. WaAa1 gd

3. 3ffgepTa

4, TTia H1 AT o

Correct Answer :-

25) 9Td 1922 BI g1 I AT A BT AT AT YR S 3RS FT TATT AUTI U AT Pl ARE-0RG S
TR g USd A1 3UT A 7 30+ W1 IR A & AT URT & dN Y 9§ S-YHBT B @7 AT
TR 39! yaferal F e asa &) ffwma 3@ ara o a1 A1 T € a0 A Sy wewr & P sfeardt oiv
I AdT BT AW AT IR I
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3% & ¥ STl & o9 7§+ aTad D rar fearat Ateh-Ardt Wt & Aread F o= AN Ferr v 1 wR
Tq A SR A P ST TH (YT §H STHIET, I Sita- Giewd gt 1Tl

ST TR BT UG - 3T T yeff & IR 9a1su:
w=: feardt f5d wga 82

1. TP UHR & YH B!

2. Th YDHR I R DI

3. SIS 1

4, GG B

Correct Answer :-

o ST &1

26) TT9 1922 BI g1 39 &1 SR BT AR UTI YRA I S BT [ATH AT 3T AR Bt GRE-av8 P
MR Te- USd A1 3 A 7 30 W ¥ F3A & fI URd & @ a1 9§ SI-YTSHT B 36T AT
TR D! yAfeal F Raars as o fewma @ ara W a1 31 T & a1 A Sy we=T & wran Snfeardt ofR
ISP AT BT A1 4T FRTH I

3T & I STl & d19 ¥g- AT BT Tfeandt Areh-Ardt Wl & wread I et AS-AET Jerr Hd A1 W
Tq A SR A AP ST ATH (YT G STHIET, ST Sita- GiRebd gl 1Tl

IuYad TTRIRT B UgHR 1 feu U us & IR a1su:
TH: U AT Al B A2

1. gt 31 GRIET TG & ferg

2. U1 W g oA & o

3. QW & & ferg

4. gHs fo@m & forg

Correct Answer :-

o 3O @ g A & forg

27) 91d 1922 BI g1 I AT S BT AT AT YR S 3RS FT TATT AUTI YA ART Pl ARE-0RG P
TR T USd A1 3UT A 7 30+ W1 R A & fIT URT & dRN Y 9§ S-UHSBT B @7 T
TR I@ yufFal F f{arw e o fRvrd v ard o a1 ¥ ) i A e e & wran snfeard v
ISP AT BT A1 4T FRTH I

3T & I STl & d19 ¥g+ AT DT rfeardt Are-Ardt Wl & Arend I et AS-AET Ferar wd A1 W
TE I ST A AP ST ATH YT §H STHIET, I Sita- GiRebd gl 1Tl

SR T B UG A1 3T 7Ty & IR Ia1sT:

A 3@t qHfHal & f¥are sy wexr # w9 dt Sonfa 33t A
1. Hiom

2. Gt
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3. HE
4. 48T

Correct Answer :-

28) 9Td 1922 ®I g1 I AT A BT AT AT YR 1 SIS HT AT AUTI U AN Pl aRE-RE P
SR TeH USd A1 3 AR 7 30 Wi ¥ F3A & fIT URd & @ 31 9§ S-YTSHT B 39T AT
TR ITH! YufHal F farw de= o fewra vam arat O @ &1 T & T 2 s ue & wran snfeardt v
ISP AT BT A1 4T FRTH I

3TY & T ST & o g a1 DT snfearit WAt @t & wream A ra Aeh-AET Jerr wd A1 W
9 A S A ISP S TH (YT T STHIT, IADT Sita- iR d gt Tl

Iued TTRIRT B UgH 14 feu e us & IR 918U
WA IS | aread 32

1. ST A DI el

2. Bad HRUIIYO]

3. Had ASATR

4. ASATR 3R RIS 141

Correct Answer :-

o ISR 3R HROGIYOT ST

29) 9Td 1922 BI g1 I AT A BT AT AT YR 1 3RS HT TATH AUTI YA AT Pl ARE-0RE P
AR TeH USd A1 3 WA 7 30 Wi ¥ H3A & fI URd & @ D1 9§ ST-UTSHT B 36T AT
TR ST YufHal & fEarw de= @ fewrd e ara W @i &1 TR & T 2 s U & wian snfeandt iR
ISP AT BT A1 4T FRTH I

3TY & T ST & o 7@ a1 BT snfearit Aieh-ardt @eft & wreaw F rut AT e wd A1 R
E I U A ISP I SMTH YT §F SHIT, ST it G d gl 14Tl

ST TR B Ugdh 1 3T T e & IR 9arsu:
W AR’ § S A1 | gihft 2

1. 414

2,700

3.900

4.9

Correct Answer :-
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30) STd 1922 %1 81 I T SISH BT AT UTI HRA G SIS BT TTH ATI 3T W1 P RE-0E P AR Te
s 1 3 I A U W1 ¥ A F AT URT & AR B 95 S-UHBT B QT AT R IAHT Yqfbal
¥ f@aTw de o1 fRwa @A ard it ahr &1 T A A Sy uewr F Hrar feart iR 3% Aar &1 ATH U7 ™

RIS

SIS & I STl & di ¥gA AT BT Srfeardt Wieh-ardt Wt & Areaw | ot AN Fern R I W @
ST A T ST PR YT §F STHIT, ST St Giwpd g1 Tl

Iued TTRIRT B UgHR 1 few U us & IR a1su:
W ward &1 faea & g

1. Hadat

2. 3eff

3. faueft

4, TRATS

Correct Answer :-

o A

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

How can we identify a dwarf spheroidal galaxy?

1. By their small size and low luminosity

2. By their distance from the milky way

3. By their difference in luminosity and temperature compared to the milky way

4. By using the Hubble telescope

Correct Answer :-
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o By their small size and low luminosity

2) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

How did the astronomers discover this galaxy?

1. By observing a cluster of stars that had a different brightness and temperature
2. By observing these stars were millions of light years more distant

3. By looking for it

4. By studying white dwarf stars

Correct Answer :-

» By observing a cluster of stars that had a different brightness and temperature

3) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.
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How distant is Bedin I?
1. 30 million light years
2. 100000 light years

3. 6752 light years

4. 3000 light years

Correct Answer :-

» 30 million light years

4) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

What is the name of the newly discovered galaxy?
1. Milky Way

2. Bedin |

3. Dwarf Spheroidal Galaxy

4. NGC 6752

Correct Answer :-

e Bedin |

5) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,
For the dogs are fierce and wild,
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And clubs and hoses, guns and jails
Aren't good for a little child.”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What do you infer from the line “for the dogs are fierce and wild"?
1. That dogs may shoot at the participants of the march

2. That the dogs are not peace loving

3. That the dogs will bite all who march

4. That there are people who are like dogs and are dangerous

Correct Answer :-

e That there are people who are like dogs and are dangerous

6) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child.”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What is the permission being asked for?
1. To go out on a trip with friends

2. To find a singing school

3. To go to church

4. To participate in a freedom march

Correct Answer :-
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» To participate in a freedom march

7) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child."”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What is the mother’s worry?

1. That Birmingham was too far to travel
2. That there won’t be others in the march
3. That the march would be tiresome

4. That there will be violence and shooting

Correct Answer :-

» That there will be violence and shooting

8) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child.”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire
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Who are the two people in this conversation?
1. Other children and the poet

2. The poet and the child

3. A child and its mother

4. A child and her friend

Correct Answer :-

¢ A child and its mother

9) Fill in the blank with the correct option in the given sentence:

The weather condition in a desertis usually _______ arid.
1. extensively

2. extraneously

3. extreme

4. extremely

Correct Answer :-

« extremely

10) Which of the following options best combines the two given sentences?

They had finished their dinner. They went to bed.

1. As soon as they had finished their dinner, they went to bed.
2. No sooner they finish their dinner they went to bed.

3. No sooner did they finish their dinner then they went to bed.

4. Before finishing their dinner they went to bed.

Correct Answer :-

« As soon as they had finished their dinner, they went to bed.

11) Choose appropriate articles for the given sentence:

heavy rainfall last week was disaster to crops that were already in dismal state.
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1. No article required, an, no article required
2. no article required, a, the
3.The, a, a

4. The, no article required, the

Correct Answer :-
e The, 3, a

12) Choose the appropriate option that rewrites the given sentence in its active voice.
The plants are being watered by the gardener.

1. The gardener is watering the plants.

2. The gardener was watering the plants.

3. The gardener has watered the plants.

4. Gardener waters the plants.

Correct Answer :-
o The gardener is watering the plants.

13) Choose the appropriate synonym for the highlighted word in the given sentence.

The fashion of colouring hair has become very ephemeral.
1. transient

2. indestructible

3. imperishable

4. permanent

Correct Answer :-

e transient

14) Choose the appropriate tense to fill in the blank in the given sentence:
I am sure he after his parents, if he rich.

1. will look, becomes

2. is looking, became

3. looks, becomes

4. would look, was becoming


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

Correct Answer :-

« will look, becomes

15) Choose the appropriate antonym for the highlighted word in the given sentence.

It was an inconsiderate act on his part to throw his aged parents out of his house.
1. thoughtful

2. insensitive

3. hurtful

4. boorish

Correct Answer :-
» thoughtful

16) Choose the appropriate pronouns for the given sentence:

Let_ make the Earth pollution freeas__ planet is
1. us, this, ours

2. them, our, his

3. me, their, mine

4. me, that, ours

Correct Answer :-
e us, this, ours
17) Choose the appropriate prepositions for the given sentence:

When I fell the river, I had to swim the river to rescue myself the
water flow.

1. into, across, from
2. onto, upon, into
3. in, upon, along

4. into, over, with

Correct Answer :-

e into, across, from


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

18) Choose the appropriate conjunction for the given sentence.

The boy is intelligent also very talented.
1. or

2. but

3. and

4, yet

Correct Answer :-

e and

19) Choose an appropriate modal for the given sentence:

It is nearly four o’clock.The children be home by now.
1. could

2. will

3. shall

4. can

Correct Answer :-
o will

20) Choose the option that best explains the highlighted expression:
Let there be no bad blood between the two royal families.

1. villainous souls

2. ill feelings

3. difference of opinion

4. illegitimate children

Correct Answer :-

« ill feelings

21) Choose the option that best explains the highlighted expression:

After having lost all his money he was back to square one.
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1. was on the streets
2. had to start all over again
3. began begging

4. turned to his family for support

Correct Answer :-
» had to start all over again

22) Choose the option that best transforms the sentence into its Indirect form:

The teacher said, ‘Bravo! You have done very well.’

1. The teacher wished us saying that we had done very well.

2. The teacher reprimanded us saying that we had done very well.
3. The teacher warned us saying that we had done very well.

4. The teacher applauded us saying that we had done very well.

Correct Answer :-
e The teacher applauded us saying that we had done very well.

23) Choose the option that substitutes the given phrase appropriately.

A person who stands by but does not take part in an event
1. Audience
2. Bystander
3. Passer by

4. Spectator

Correct Answer :-

e Bystander

24) Choose the most appropriate determiner from the options given below.

shoes are under the bed.

1. Blue

2. Your
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3. Yours

4. Torn

Correct Answer :-
e Your

25) Read the sentence carefully and choose the option that has an error in it:

When the limestone just below the ground surface dissolves, the lands collapses and form ponds.
1. just below the ground surface dissolves,

2. the lands collapses

3. When the limestone

4. and form ponds.

Correct Answer :-
e the lands collapses

26) Fill in the blank with the correct option in the given sentence:

You are --efficient to do this work.
1. mis--

2. non--

3.in--

4, un--

Correct Answer :-

27) Fill in the blank with the correct option in the given sentence :

A person well-versed in the practice of speaking with no lip movement is called a ventriloqu--.

1. --ism
2. --al
3. --itive

4, —-ist
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Correct Answer :-

e st

28) Fill in the blank with the most appropriate preposition from the options given.
Smallpox has been eradicated India.

1.in

2. on

3. for

4, at

Correct Answer :-

29) Change the given statement to indirect speech.

Tom: “I’ll be there at eight. Is that all right?”

1. Tom said that he would be there at eight and he checked if it was all right.
2. Tom said that he will be there at eight and asked if it was all right.

3. Tom told that he would be there at eight. And asked if it is all right.

4. Tom said he will there at eight and asked if that is all right.

Correct Answer :-
» Tom said that he would be there at eight and he checked if it was all right.

30) Choose the right tag:

Dogs love meat, ?
1. aren't they

2. are they

3. do they

4. don't they

Correct Answer :-

« don't they

Topic:- Social Science (SSC)
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1) Who is the political head of Cabinet secretariat? / HfAtisa Afaray 1 Ie-ifad T B 82
1. Prime Minister / GUTTHAT

2. Secretary / gfrd
3. Cabinet Secretary / HAHed gfed
4. Cabinet Minister / Bfae Tt

Correct Answer :-

« Prime Minister / UUTTHA]

2) What is also called as the ‘Hare system’? / ‘8% UG’ &I 3R FT HgT Il 82

1. List System / ﬂfﬂ (%IE’) P
2. Alternative Vote System / dobicd die WO

3. Category Based System / it m 3T JorTe!

4. Single Transferable Vote System / Ydh ] SR die Jorelt

Correct Answer :-

« Single Transferable Vote System / Ul IR dic Jomelt

3) Which is not a part of the National Action Plan on Climate Change? / 1 # | &9 Serdrg

uftads W gty st aie &1 i 16t 82

1. National Water Mission / QT@U SNREEE]

2. National Mission on Pollution Control / TI'@'C[ Ugyul [BRELAEREG

3. National Mission on Sustainable Habitat / Tl'g}l'q Fd ggiavur fiRE

4. National Mission for Sustainable Agriculture / TI'@T{ YR Tﬁf e

Correct Answer :-

« National Mission on Pollution Control / TI'@'C[ Ugyul [GRELAERE
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Match the following:

1. Kuka Movement

A. Lucknow (1936)

2. Mappila Rebellion

B. Gujarat (1928)

3. Bardoli Satyagraha

C. Kerala (1922)

4. All India Kisan Congress

D. Punjab (1854-72)

@ = e F:3&

1. T e

A. FTEAF (1936)

2. After fagE

B. IR (1928)

3. ST GeOEIE

C. =TT (1922)

4. 3@ IS FE FEF | D. 994 (1854-72)

1. 1-A, 2-B, 3-C, 4-D
2. 1-D, 2-B, 3-A, 4-C
3.1-D, 2-C, 3-B, 4-A
4.3-D, 2-C, 1-A, 4-B
Correct Answer :-

- 1-D, 2-C, 3-B, 4-A

GET IT ON
Google Play

5) Bairam Khan was given the title of Khan-i-Khanum during the reign of: / A TG BT 3?%7
YRR & SR @H-T-TTH Bt STy &t 7 A:

1. Jahangir / GS\"I‘“?

2. Humayun / E'QTQV;

3. Babur / dlelR

4. Akbar / hd

Correct Answer :-

« Humayun / EQTQV;

6) Active learning starts by posing questions, problems or scenario. This is best represented in:

/ afera fRreror wsl, THrsit a1 ufvexy ) URgd $RA A ARY BT 81 3TPT JaN 33T SR

A gl

1. Problem-based learning / GHRAT- TR SHferTH
2. Technology-based learning / TfiaT-snenia sifirm
3. Inquiry-based learning / 3FAWUI-3TETRG AT
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4. Activity-based learning / TTfAfafe-smenfd srferma

Correct Answer :-

« Inquiry-based learning / S{~NUL-3TETRd 3ifeRTH

7) ‘Aral Sea’ is one of the largest lakes in the world is completely vanished away due to
unscientific human intervention. In which country is Aral sea located? / ‘3¢l IR’ ﬁ"!{ Cd|

I T 3fitel & A T § S Sray—e WMd g¥d8Y & HRUT I 9 | a9 81 18 2
3RTA IFR {5y =1 & fRua 82

1. Kazakhstan / ®oITRa%dT

2. Estonia / Q@ﬁtﬂ
3. Latvia / AITd(adT

4. Venezuela / éﬁw

Correct Answer :-

. Kazakhstan / BRI

8) is a system introduced by the government where the issue price of food is much
lower than the market price to enable the poor to purchase the subsidized food. /

WHR gRI IR= D1 T8 TH Yurelt 3, Prgd afwst ara wieH 9 @il & forw et «t
TeH 1 3 W eIyt &1 i Yo 9ok You A 9gd &4 gia1 2|

1. Peoples Distribution System / SI- faaRor yorrelt

2. Public Direct Service / Tawii-ier Yd&f Tal

3. Public Distribution Scheme / TdGI-db fAdRUT UG
4. Public Distribution System / BICEIRCAERRY R I

Correct Answer :-

. Public Distribution System / HTqoI-d faaRUT FOTTCH

9) vote is exercised by the speaker in the house in case of a tie where in equal

numbers of members have voted in favour or against a bill or resolution. / HHTT (E'Ié’) ot fRAf

T Safe fadas a1y & ue vd faRty o Jowal @) JuE e A v f5ar gt 99 Wed o Sremel gy
T BT SUANT fobat STan 21

1. Absolute / FFRU&! (TsHRQ)

2. Primary / e
3. Relative / &fdd
4. Casting / BIIREY
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Correct Answer :-

+ Casting / BIRED

10) Arrange the following events/movements in the correct order of their chronology:
1. Jalianwala bagh massacre

2. Second Civil Disobedience Movement

3. Boycott of Simon Commission

4. Quit India Movement /

Frafafaa gemaii/ sigiasil @ 3¢ HTahd & ATAR LI HH § ogafedd B
1. SIfATaTaT 9RT §ATHIS

2. fo<ita afeTa srasm sigia=

3. 13U HHIRE $T SgHR

4. YIRd BIS! sigiad

1. 2-3-4-1

2.1-2-3-4

3.1-3-4-2

4. 1-3-2-4

Correct Answer :-

. 1-3-24

11) The Play ‘Neel-Darpan’ by Din Bandhu Mitra portrays the plight of: / 7.‘:17'[ aﬂ o g

I e Hia-gdur # g9 fRufa &1 feeror fear man @
1.Weavers/§=|ﬁ

2. Indigo Planters / i1c ST U]

3. Landless Labourers / 'ﬁ[&l?ﬁ:f Hyl §?|
4, Bengali Artisans / ST HRITRI

Correct Answer :-

. Indigo Planters / <l IR i

12) In which year was Chhatrapati Shivaji Maharaj crowned as the Maratha King? / E_?Nﬁl'
Rrarel ggRT™ &1 {59 a9 WR1ST e & =U 6 qr61 UgHEn T UT?
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1. 1680
2. 1674
3. 1630

4. 1664

Correct Answer :-

« 1674

13) The Government has started with the objective of promoting co-operative marketing of

agricultural produce for the benefit of farmers. / IXDPR AfFARid AU S fere q?fef IUS & HgHRI fauuE

P IQEAT A F I A B AT DI B

1. National Agricultural Confederation Management Fund of India Ltd. / A TR BB SR e s
3T & ferfercs

2. National Agricultural and Commerce Management Federation of India Ltd. / ENE] Q";ﬂw us Sy AAeHe
g T 3t 38T ferfrcs

3. National Agricultural Cooperative Marketing Federation of India Ltd. / RG] e eRd PITRfeT AT e
He¥RH 3t Sfear ferfies

4. National Agricultural Cooperative Management Federation of India Ltd. / A ThbeRd BRI TAeHc
g T 31Tt 3fSar ferfres

Correct Answer :-

» National Agrlcultural Cooperative Marketing Federation of India Ltd. / R T eeRd HISfoRfed AT e

14) Right to Education Act came into effect on ./ FRagn &1 sftre R siftfay | [S1D
gaTl

1. 1 April 2010 / 1 3101 2010
2. 1 March 2011 / 1 |/ 2011
3. 1 February 2012 / 1 TRa3} 2012

4. 1 May 2009 / 1 T3 2009

Correct Answer :-

« 1 April 2010/ 1 310 2010

15) is the difference between the value of a country's imports and exports for a given period.

f Tl & s srafy & Rre el 3w ¥ smara ok Frafa gl & S et siaw B
1. The Balance of Economic growth / 3T faem &1 Iqe

2. The Balance of Payment / HITdT- T Iel
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3. The Balance of Trade / STUR BT I

4. The Balance of Exchange rate / faf g R &1 T

Correct Answer :-

« The Balance of Trade / STUR T e

16) Rajukas appointed by king Ashoka performed the following duty? / ITSIT 3RMH IR

frgaa w9l A Fafatad sde A
1. Revenue / X[S¥d

2. Religious / T

3. Military / &g

4. Judicial / <OTRI%

Correct Answer :-

. Judicial / T

17) MRTP stands for /THIARS BT faRga® a3

1. Monopoly & Restrictive Trade Prohibition Act / O Q_Sm 23 En'%ﬁ?l:f Udc
2. Monopoly & Restrictive Trade Pact / BT @m ?\_5' BE

3. Monopoly & Restrictive Trade Practices Act / BT nga 39*3 g Udc

4. Monopoly & Restrictive Trade Prices / At Q_S'm 3_6' Eﬂ%@g

Correct Answer :-

+ Monopoly & Restrictive Trade Practices Act / BT Q@"m 2_6' U Tae

18) At which places are the cave paintings found? / J[WT ICE] ('aﬁ'r\"-l') g = W uTe SITd
82

1. All the above / SURTad T+

2. Bhimbetka only / PHad HuscH

3. Badami only / Had STGH!

4. Ajanta only / had 3foidl

Correct Answer :-

« All the above / SWRIad g4t
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19) Ashtapradhan was the official council of: / STFUYUTT SHPT SMfUBTRD qﬁ'ﬂ'({ YT:

1. Mughals /HTIT“ﬁ DI
2. Marathas / ARTT3H BT

3. Afghans / 3BT BT
4. Rajputs / JSTYd] BT

Correct Answer :-

« Marathas / TRT3T3{I BT

20) In which among the following years, did India conduct series of nuclear tests? /

frefafed & & fea ad 6, yra A ey wdiamon @1 e $a smaifea S
1. 1998
2.1997
3. 1999

4. 1995

Correct Answer :-

« 1998

21) Who has the monopoly in issuing currency notes in India? / HRd | Hal (aﬁvh) e

S} B34 § [T ThIfUaR 82
1. Commercial Banks / AT og® %
2. NABARD / -TI€TS

3. Ministry of Finance / ERGEINEI
4. Reserve Bank of India / HR<H Rerd §

Correct Answer :-

« Reserve Bank of India / HRAIT Roid §&
22) Who was the President of the Constituent Assembly? / AU HT P 3 &l S A2
1. K.M.Munshi / &.TH, H—‘Zﬁ

2. H.C.Mookerjee / T @Trﬂ:
3. Dr. Rajendra Prasad / 31 3% U4IG
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4. Dr. Ambedkar / SI. S HI

Correct Answer :-

 Dr. Rajendra Prasad / 31 Ioi% TS

23) Who gave the famous slogan “Garibi Hatao”? / "It EETGﬁ "Bl E'Iﬁl&" ART mﬁ
fear

1. Rajiv Gandhi / Irold Tieft

2. Jayaprakash Narayan / STHUDIR] AIRTYU]
3. Indira Gandhi / ST gt
4. V. P. Singh / d1. O}, g

Correct Answer :-

« Indira Gandhi / 3T TTieht

24) Who is the proponent of social recitation method? / TS TG UTS Ui bl
TRATAD I 2

1. Max Weber / Ha J&R

2. Karl Popper / B UfR

3. Auguste Comte / IHIRE P
4. Adam Wesley / USH GRS

Correct Answer :-

« Adam Wesley / TSH GEs|

25) Who was well known as Lokhitwadi? / fg8 @i fgddrd! & 30 H ST SITdT Y12
1. Gopal Hari Deshmukh / T g1 %{QIH"@

2. Jyotibha Phule / STIfcIET Bt

3. Ishwar Chand Vidyasagar / 3% 9¢ [qENNR

4. M.G. Ranade / TH. Si. IS

Correct Answer :-

« Gopal Hari Deshmukh / || ERD[ %Q]H"@


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

26) A teacher gets immediate feedback by conducting ./ TP RIg® &

TS GRT deh el Ufayfy U w2l g

1. programmed evaluation / BTIHHEG Jedih

2. summative evaluation / JNTIHD Jj\c'qitb"l
3. diagnostic evaluation / EHIRED H™ih
4. formative evaluation / FTATOTE® Hedid1

Correct Answer :-

. formative evaluation / FHAfOTH® Hedih

27) According to the Constitution, India is best described as a ./ ERYE & SIUR,

YR B G 3D & +=u ¥ aftfa fear mar 21
1. Union of States / JIoTl &1 IY
2. Unitary State / ThTdHddh g

3. Sovereign state / YUY I
4. Federation / B8

Correct Answer :-

o Union of States / I} BT IY

28) India achieved self-sufficiency in food grains by the year ./ HRG A ¢

I% @rana § s Rear gfya #1
1. 1956
2. 1986
3. 1996

4. 1976

Correct Answer :-

e 1976

29) has replaced the Planning Commission of India. / = HRdg gieET

TR T VI & ferar g
1. Antyodaya Anna Yojana / Iy 37 o
2. Yojana Upay / i1 U™


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. Yojana Aayog / ST ST
4. NITI Aayog / =Ifdl 3R

Correct Answer :-

« NITI Aayog / fcT TR

30) Identifying the learning difficulties or weaknesses of pupils for instruction is known as: /

i & fore faenfday &t eifitrmw Td<h wfeargal ar suenial o ugar- G
U H ST W11 81

1. Unit test / SIS URI&0T

2. Diagnostic test / AT Tteror

3. Prognostic test / Qﬁﬁ?m TRiefor
4. Achievement test / ST TRI&UT

Correct Answer :-

« Diagnostic test / AT Tteror

31) The major objective of dramatization in the teaching of social science is: / I SED

o= & fRreror & Ared iy TuiaR 1 U 3e=4 = ST AT 8
1. Comprehension / Y
2. Knowledge / T

3. Research / 3T

4. Application / 3TdG-

Correct Answer :-
» Comprehension / Y

32) The ‘Panchsheel’ agreement was signed between ./ U= '\‘lﬂgﬁa W
& A gIeR fpu MU

1. China and Tibet / T4 GﬁT fassd

2. Pakistan and China / L‘Illrab%('ll"l GﬁT dnl'-l

3. India and Pakistan / HRd 31 UTfep&d™

4. India and China / HRd 3R 99

Correct Answer :-
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« India and China / YRd 3R T4

33) The age of the earth according to majority opinion is: / IgHd & VR, q%ﬁ 4| 31y

1. 40-50 Billion Years / 40-50 fofera adf
2. 4-5 Billion Years / 4-5 faferas au
3. 4-5 Million Years / 4-5 fafera aof
4. 1-2 Billion Years / 1-2 faferga oo

Correct Answer :-

« 4-5 Billion Years / 4-5 Pq’%mqatf

34) The strategy that enhances student knowledge and enables them to acquire
collaboration, communication and independent learning skills and prepare for lifelong

learning is: /agvmﬁﬁrﬁmmaﬁm%aﬁva—%mﬂ,waﬁvwafwm
DI YT B 3R SAToia AR & T Jarw a9t 8:

1. Written assignment method / ferfaa Fl'qﬂ%(?l:[ ggfd
2. Project method / gRaSH Ui

3. Practical method / TORTIH® UGid

4. Demonstration method / THTUNHRUT Uil

Correct Answer :-

« Project method / g Ui

35) The advantage of discussion method is: / ==t faftr &1 A ey %z
1. Emphasis on learning instead of teaching / fR187071 o SO AT W IR
2. Emphasis on learning with lecturing / 4IRS & 1Y STH W IR

3. Emphasis on learning with technology / NI & 1Y S TR SR
4. Emphasis on learning with activity / BHAGAT & Y AT TR SR

Correct Answer :-

« Emphasis on learning instead of teaching / 278707 o SO ST WR IR
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The only session of the Indian National Congress which was presided by Mahatma Gandhi

was held at : / IR IETT HTAF ST THAS T For T} sreaerar agre mieht 7 31 o,
g5l smaifora farar mar A

1. Allahabad / 2dlgldlq
2. Belgaum / CINUICH
3. Karachi / B

4. Surat / JId

Correct Answer :-

« Belgaum / ST

37) The qualitative judgment of value and purpose is: / HeY 3R G%W Cadl
U fAvia gaT 21

1. Evaluation / gl
2. Marking / 3ih

3. Examination / TR1&f0T
4, Grading / OlicR

Correct Answer :-

« Evaluation / Hedih
38) NSE stands for ./ TATHs, P fagd U gl
1. National Support Establishment / ERIET] e Q@'@ﬁ’lﬁ?

DN ON S

2. National Statistical Economy / A¥Md Tfefedd ':‘gdv-l\lll-lnl

3. National Statistical Enumeration / 7R-d ¥ fefedd s'j\H\QQI b

4. National Stock Exchange / 7 d ¥Teh TaIdol

Correct Answer :-

« National Stock Exchange / :I-‘QI'-IQ1 N2 Qd'{-la.\ﬂ

39) Which is not a characteristic of formative evaluation? / B I} fAafonar® b C4|
T fawar 781 82

1. It is an integral part of learning process. / g ST &1 UfehaT T Teh JHHH 37T gl
2. It is generally a teacher made test. / Ug 3{H ?ﬁ? TR Udh QT&‘W aRT fAfda Th qﬁ&ﬂ %I
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3. It pinpoints difficulties being faced by a weak learner. / g Udh HUGIR FRI&Mt & i 3
arelt Bie-Tsal &I SR A 5|

4, It does not help in the modification of instructional strategies / Ug &@QW U &
G2l & Heg Tel AT 3|

Correct Answer :-

+ It does not help in the modification of instructional strategies / Y& &Iﬂa'QIW oIl &
TR & 7eS T =T 6

40) Which is not a correct statement? / fHgffaa & @ Cack: | U ﬂﬁ DY =|€r %’?

1. Battle of Buxar was fought between British East India Company and Mir Jafar. / SRR P ?TC":TQC

fofew S fSar Huft ofk faR SR & oftw ot 718 o

2. The third Anglo Mysore War was fought between British and Tipu Sultan. / TTERT Tl ﬁﬁ? J&
fafesr iR Eg o & sta a7 Tl

3. Partition of Bengal took place in 1905. / ST T fauTS 1905 # gl

4. Queen Victoria took the title of Empress of India in 1876. / eRM! f[daeiRar = 1876 § HRd &t
BIEIRIEFNCRICRe | ISREZI]

Correct Answer :-

« Battle of Buxar was fought between British East India Company and Mir Jafar. / SRR Gl ('1$I‘£

fofee S Sf&ar huft ok far ST o o= ofsl 718 2

41) Which Article in the Constitution grants special status to Jammu & Kashmir?/ GICHIE]

A B 91 3T oiFy 3R HIR P! fadiy gwif qan &2
1. 369
2. 368
3.370

4,353

Correct Answer :-

« 370

42) Which of the following types of method gives priority to the individuality of the student?

| FFrafafea 4 9 foa yor o1 faft o= & dafeasar o wyufiear ddi 82
1. Learner centered / fRremeff fga
2. Teacher centered / 18 digd
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3. Lecture centered / SRS dhigd
4. Subject centered / favg FHfga

Correct Answer :-

« Learner centered / TRr&meff fga

43) Which of the following is not one of the conceptual pillars of Human Development? /

FPrafif@d & S Fr a9 e ¥ i @i § 3 te T8t 22
1. Sustainability / FRR@T

2. Productivity / 3T dl

3. Equality / JHIAdI

4. Empowerment / BRICSERU

Correct Answer :-

« Equality / JHIACT

44) Which of the following learning method is most effective in social science learning? /

frafafea 3 9 o @ siftrm faftr arfore fagm e 9 999 gurdt 32
1. Learning by reading / Yo gRT 3T

2. Learning by rote memorization / 3R] TN gRI ST

3. Learning by doing / fohameies S1ETH
4. Learning by hearing / 40T gRT 3{f&H

Correct Answer :-

« Learning by doing / fhaTHeTer S{fRTH

45) Which of the Indus Valley Civilization cities had a dock? / ﬁlﬁ[ "1 T ara fea
e H ST UN?

1. Harappa /g SWI
2. Lothal / @Y

3. Alamgirpur/ &HT’I'J:I’W
4, Kalibangan / PHIATST

Correct Answer :-

o Lothal/ AU
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46) Which among the following is a critique of society and culture drawing from knowledge

across social science and humanities disciplines? / frafafead a ﬁq, IS ED ﬁ?lﬁ 3R
AFfa®! fawal o 39 gRT IS iR HXpfa & Iwiien #war g2

1. Marxist theory / W'laof Ryegid

2. Class theory / CURRSEAL|

3. Critical theory / TATHS i

4. Revolutionary theory / trha?haﬁr Rrgid

Correct Answer :-

« Critical theory / 3TATG-TH® Gid

47) Which country has presidential system and executive powers are in the hands of the

President? / f® &=1 & wrgufa yomelt 8 ofk wrdeRt wfeal wigufa & g1af 7 gl 32
1. UK /g&b

2. France / /I

3. USA / UYU
4. Canada / h-lS]

Correct Answer :-

48) A child who is an extreme introvert may be reluctant to express himself in an overt
manner. Which technique can be used to study his/her personality traits? /

TS T Sl S(ARP Syl 3, I8 e Bl YA 1P | e He 1 g gl gal
2| I AfRTd A&IUN BT AT B & fore forg dav-ite &1 YA fbar s pdr 22

1. Projective technique / giRaford ddb-ie
2. Dramatization / TCH 1T FUIR

3. Demonstration / THTONHRT

4. Role play / RNAY|

Correct Answer :-

+ Projective technique / gfRaiford deb-itep
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Which of the following is definitely achievable in a span of one period? / fFafafea 94 3 o Afda < u
A T Safy & SievTal # UTwd i IR 82

1. Ideal/&llagi

2. Aimless / I%%Qa
3. Objectives / 3%35
4. Oversight / T80T

Correct Answer :-

e Objectives / 3%33
50) CANCELLED
What part of a tidal cycle has minimal current? / ORI 9% & g URT | gAdH YRT

g 82
1. None of these /Eﬁaﬁgﬁ
2. Flood tide / SARIT §T¢

3. Ebb tide / HICT

4. Slack tide / & (XIP) URT
Correct Answer :-

. Slack tide / T (X) YR

51) Who was not the leader directly involved with Khilafat movement (1919-1924)? /

379 A DI I AdT fAgIe SMieia1(1919-1924) T WU ¥9 J 81 o A?
1. Mohammad Igbal / mw
2. Mohammad Ali / HIgHG 3t

3. Pir Ghulam Mujaddid Sarhandi / R T[cTH gellide Wgal
4. Maulana Shaukat Ali / HTGTT QiTded 3fet

Correct Answer :-

« Mohammad Igbal / J-I\I'€'>l~'-IC'g P dId

52) Who wrote the ancient Indian Play Malvikagnimitram which referred to the defeat of
Yavanas on the bank of River Sindhu in the hands of Vasumitra? / YT YR ATe®
ArafasRIfEd fea forar o1, oRTd Rig 98 & de wR g & g1l 9a=il &1 gR &1
I UT?
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1. Asvaghosha / YUY
2. Harsha/ E'Gf

3. Sudraka / g
4. Kalidasa / BTG

Correct Answer :-

. Kalidasa /PTG

53) Due to which of the following winds, Central Europe enjoys a warmer climate? /

fFrafafaa § 9 f5 ga1 & SRL, 7ea QRIY UH T4 Sedr] &7 3Te SoTdT 82
1. Bergwind / ST0G

2. Zonda / ST

3. Foehn / BH

4. Chinook / fa[&

Correct Answer :-

o Foehn/ o)

54) Which of the following is not a high cloud? / Fufeafed § Q@ H19-91 3= arga (31%
FIATSS) 75l 82

1. Stratus / &R} S1Gd @?ﬂ)

2. Cirrostratus / G&TH &~ dled @ﬁ@?ﬂ)

3. Cirrus / U&TH dTed (RR9)

4. Cirrocumulus / G&TY U STed (RRIRH)

Correct Answer :-

« Stratus / &R1 STGd (¢CH)

55) Which of the following is not a temperate Grassland or Shrub-Land Biome? | Frafafea

T A B U= TR 91 SEIGR A9 (Tds ara) 81 82
1. Sahara / "8RRI
2. Veld / 9¢8

3. Prairie / ORI
4. Steppe / dt
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Correct Answer :-

« Sahara / HelRI

56) ‘Al Aziziyah’, the hottest place on earth is located in which country? / q?ﬁf TR a9

R <37 Sroiiforares’ frg 3w & fRya 82
1. Libya / <iferT

2. Sudan / g™

3. Congo il

4. Nigeria / TSGRl

Correct Answer :-

. Libya / clifed

57) The Treaty of Bassein was signed by on December 31, 1802 with the British. /31

e, 1802 P g1 3T & w1y AR @Y 6t W gvanar fvar wa
1. Yeshwantrao Holkar / IRIGcRTd IR

2. Daulatrao Shinde / GICIaRTd 1Ri¢

3. Ghasiram Kothwal / STERTH $Hldare

4. Bajirao 11 / TSR 11

Correct Answer :-

« Bajirao II / aTeiRTa 11

58) Rama’s Bridge or Rama Setu is located in which among the following straits? / XTH &I

g a1 7 g a7 9 fea e § fRua 82
1. Cook Strait / $b DI @Ta!
2. Bering Strait / éﬁﬂaﬁw

3. Palk Strait / Uld SICISHX™HY

4. Strait of Tebrau / C&R® P} WIS

Correct Answer :-

« Palk Strait / Yl SIcfSHESHY


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

E-Iea%ﬂng in social science helps the students for: / IS ﬁTIF-I s i—?lﬁ"ﬂ Bl & A | Haaq
CXGINH

1. Simulated learning / W 3{fRTH

2. Rote learning / & JHfETH

3. Learning by doing / ﬁv_ﬁl'w IR e}

4. Anytime and anywhere learning / Ht ot iR w i} sferm

Correct Answer :-

« Anytime and anywhere learning / FHaft +ft 3R Pl Y fferTH

60) Where is Ring of Fire located? / ¥ 3T BTIR Pl R %?
1. Along the coast of Antarctic Sea / 3feThicd IR & dc & 1Y

2. Along the coast of Atlantic Ocean / Jcdiicd HENR & dc & 1Y
3. Along the coast of Indian Ocean / %3 He ™R FHdcH Y

4, Along the coast of Pacific Ocean / Uid HENFR & dcH Y

Correct Answer :-

« Along the coast of Pacific Ocean / URId HBHNR & dc & 1Y


https://applink.adda247.com/d/XhqWf9lSap
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